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ENGLISH VERSION

Instructions : (1) All questions in section-I carry equal marks.

(a)

(b)

(b)

(a)

(b)
(a)

(b)

(2) Attempt any two questions in section [
(3) Questions-5 in section II is compulsory.
(4) Use of simple calculator is allowed.

SECTION I

State the conditions for a maximum profit. The demand function of monopolist is 20

375-5x
3

and its cost function is C(X) = ~Xg— +13x+500 Determine the price P

and out put x for maximum profit. Also find maximum profit.

2

The demand and supply function are D : x = 130 - 4p and S:p= 10+§+1)?W'
Find market equilibrium price and quantity.
Explain partial Differenciation If f (x, y) = x* + y* + x3? y3? 20

X-—+ al (X, y)
e — =3 .
prove that, ox y 5 y

The Cost function of a commodity is C = x + 2y and its production function is x’y=2000,

find the values of x and y

such that the cost is minimum. Also find the total cost.

What is Annuity? Explain various types of it. Mr. Arin purchased a laptop paying 20
Rs. 20,000 cash and promising to pay Rs. 3000 at the end of every quarter for next

4 years. If the seller charges interest at 10% per annum compounded quarterly what is the
cash price of laptop?

Explain : (i) Sinking Fund ( ii ) Compound interest ( iii )} Simple interest

Fit a straight line y = a + bx using the following data. Estimate the production of the 20
year 2021.

Year 12016 2017 2018 2019 2020

Production l 40 50 62 58 60

For the following data, fit asecond degree parabola.

xl 12 10 8 6 4 2

y l 6 5 4 3 2 t
{P.T.O.
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SECTION-II
5 Answer the following (any five) :
( 1) What is market equilibrium?

( 2y What is the condition for obtaining siationary vaiues?

. 4x -5y of
A i X3 e s
(3) 1Fixy = 3y,hnd o

(4 ) Define homogeneous function.
( 5) What do you mean by curve fitting?
( 6 ) State the different formulas of Annuity?

( 7) Find the rate of interest if the compound interest for 2 years is Rs. 4000 on 40000.

oy 0z

8) Efz=2x3-3xy+2'2,ﬁnd~;—f~and >
Y

ox” oy

( 9 ) State the different equations of second degrees parasola

(10)  Write the procedure to fit the equation y = ae®.

10



